Chemistry 211 Name
Chapter 21 Quiz #2

Which of the following works best as a base to quantitatively convert
ethyl acetate, CH3COoCHoCH3, to its enolate?

1) NaOH 2) KOC(CH3)3
3) CHaLi 4) [(CH3)2CH]oNLIi

What is the product of the following reaction?

(1) NaOCH,CH3
CeHsCOoEt + CH3CH,CO5Et >

(2) H;0"
I I TN
1) C¢HsCCH,CH,COEt 3) CH3CH,COCCgHs
TSI 1l
2) C6H5CC|:HCOEt 4) CH3(|3HCOCC6H5
CHs CH;3
1) 1 2) 2 3) 3 4) 4

The acetoacetic ester synthesis, shown below, can be used to prepare 5-

methyl-2-hexanone. Which one of the following alkyl bromides would be
used in the synthesis?

@) 0]

(1) NaOEt (1) NaOH, H,O  heat
M —> — » ——> 5-methyl-2-hexanone
OEt (2) alkyl bromide ? (2) H30O
1) (CH3)2CHBr 2) (CH3)2CHCH2Br
3)  (CH3)2CHCHoCHoBr 4) CH3CHoCHBIrCH3

Which one of the following would not give an appreciable yield of
Claisen condensation product?

1) ethyl hexanoate 2) ethyl 2-methylhexanoate
3) ethyl 3-methylhexanoate 4) ethyl 4-methylhexanoate

What is the product of the following reactions?
U 2NaOEt (1) LiAH,
EtO OEt 2 CHasl (2) H,O

1) 2,2-dimethylpropanedioic acid 2) 2-methylpropanoic acid
3) 2-methyl-1-propanol 4) 2,2-dimethyl-1,3-propanediol
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6. Which one of the following is not a resonance form of the enolate ion
formed from ethyl acetoacetate?

O oO O O
1) MOCHZCHS 3) MOCHZCHS
0O O O OH
) MOCHQCHg K MOCHZCW
1) 1 2) 2 3) 3 4) 4

7. Which one of the following would not be expected to give a significant
yield in a Dieckmann condesation?

1) EO

TE

2) EO

2

1) 1 2) 2 3) 3 4) 4
8. Identify the most acidic hydrogen on the following molecule.
O O
HsC
OCHjs
/ H H
| T T
2) 3 4
1H 1 2) 2 3) 3 4) 4
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9.

10.

What is the product of the reaction shown below?

O O 1) NaOEt, EtOH

i -
EtOWOEt 2)H

0 CO,Et 0 OH
CH,CO,Et CO,Et CO,Et CO,Et
1) 2) 3) 4)
1) 1 2) 2 3) 3 4) 4

Which one of the following esters gives the Claisen condensation
product shown below?

O @]
OEt
1) ethyl 2-methylpentanoate 2) ethyl 4-methylpentanoate
3) ethyl 3,3-dimethylbutanoate 4) ethyl 5-methylhexanoate

Page 3



11. Which of the following is the Michael addition product of the reaction

below?
0]
/ +
(1) KOC(CHs)3, (CH3)3COH  H30
CHg - >
(2) H,C=CHCO,Et
0]
0] 0]
CH3 / CHs3
1) 3)
CH=CHCO,Et CH,CH,CO,Et
A\ A\
(0] (0]
0] O
/ CHs CHj
2) 4)
ﬁCH:CHz N ?HCOZB
OO0 O CH;
1) 1 2) 2 3) 3 4) 4
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